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(%) (N) (N) (N)

A AR LLI AT 714 776 889| 1,665
AL EB LLIET 1,095| 1,225 1,346 2,571
JLEEHT 2,400| 2713| 3,006| 5719
REBCHA 42 41 58 99
FEE B O HT 22 25 37 62
& SFHT 45 62 59 121
PE &5 5 <F T 37 39 40 79
Fri8 A ET 604 670 708| 1,378
78 £7 18 N ET 131 96 132 228
Lg% a T 22 27 34 61
ek o] 28 38 40 78
mtRa 33 42 40 82
1 HT 46 60 73 133
ZRHET 58 72 69 141
ZEHT 54 49 64 113
HMEFRET 41 38 43 81
£ T 47 72 72 144
Z RHET 41 32 50 82
A HT 33 40 48 88
Eoilandi ] 34 38 48 86
SR HET 72 77 94 171
HiaET 40 59 59 118
S FHHET 49 43 57 100
4 AR HT 202 226 266 492
= FH AT 1,089] 1,156 1,346 2502
= B O#T 74 73 87 160
it EET 10 12 12 24
it = T 90 88 107 195
E fiT 21 21 25 46
5 FEHT 48 54 56 110
H—TH 35 23 25 48
H=TH 23 30 29 59
HM=TH 87 89 111 200
HiETH 32 32 35 67
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HMEATH 73 70 75 145
HI<TH 77 77 85 162
A= HT 33 30 32 62
ilFl 5R SF HT 53 64 68 132
L KITHT 48 48 46 94
B R IHT 125 86 112 198
HNET 929] 1,210] 1,284| 2494
B [E T 100 124 115 239
75 5] T 232 247 276 523
1 AHT 241 321 352 673
K HHETE 42 50 55 105
WD & BT 128 159 173 332
NLETEFHT 234 221 265 486
KEHT 121 115 150 265
Ak BT 223 255 282 537
HiE 15 T 82 83 121 204
KIEMT 19 22 21 43
1, R T 10 10 14 24
5o, LLI BT 280 287 293 580
b, B T 69 78 81 159
7k B2 SFHT 150 167 179 346
ok [ T 87 98 114 212
24 B 1 632 633 765 1,398
Y, e T 233 219 254 473
& LI#T 435 473 522 995
{5 FHHT 2,025 2267 2509 4776
FH& T 78 103 96 199
FZHT 119 149 154 303
A EHT 191 202 227 429
R FHHT 147 165 192 357
& HHET 1,037) 1,158 1,210 2,368
Y T 801 970| 1,041 2011
5% )11 BT 101 133 140 273
7 HT 1,222] 1,448] 1592 3,040
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LI FH T 225 263 270 533
& H|LIET 1,239 1,385 1549 2934
T B H#T 618 703 756 1,459
SR [ BT 888| 1,063 1,145 2208
L =1FHr 65 96 100 196
T =48HT 975| 1,076| 1248 2324
T4 HET 1,080 1,198 1409 2,607
£ B ET 271 337 355 692
AITHT 34 53 54 107
Z[E H S ET 20 21 21 42
F B EFHT 130 169 194 363
X REHRT 408 461 382 843
15 FH T 195 250 269 519
E=plilig 44 60 76 136
=fat:i)] 328 327 409 736
[T 79 100 108 208

H 3k T 41 60 55 115
FERET 221 284 307 591
YR T 36 57 63 120
FEHEHT 67 98 88 186
7 [ ET 69 98 104 202
K& 115 131 146 2717
J\SEHT 140 199 214 413
HEARHT 153 154 186 340
5 E FFET 785 849 863] 1,712
= EHT 182 207 259 466
FARET 50 63 63 126
75 BT 114 138 152 290
IR BT 384 451 463 914
55 5] i 477 536 507] 1,043
%5 FH &0 < HT 24 28 37 65
%5 FH &0 e T 46 48 66 114
X6 &R AL BT 1,058 1,345 1410 2755
BE F0HT 66 72 77 149
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/N SRHET 4642| 5168| 5710| 10,878
INPRET 1,043] 1,196 1291 2487
JL FEHT 567 674 725 1,399
AT 353 419 429 848
£ AT 54 73 78 151
/NEHT 369 478 496 974
2z RHET 155 185 165 350
HH Ao BT 222 328 336 664
it 58 =F T 332 396 411 807
78 FH R AT 458 472 499 971
INRETER—TH 117 122 142 264
INRETEHR_TH 155 157 152 309
INRETER=TH 221 279 294 573
INAETFE—T B 30 32 25 57
INAETFE T B 51 67 68 135
INRETER=T B 102 93 97 190
a it) 37,274] 42,399| 46,383| 88,782




